DZ 16228 Installation Instructions

Ford Escape 2020-Current

B

Driver Front Bracket

C

Passenger Front Bracket

B 2806LP X1 B 2806RP X1
D Main Rear Driver Bracket E Main Rear Passenger Bracket I: Second Rear Bracket
B 2807LP X1 B 2807RP X1 B 2808P X2
G Bulb Gasket H M8 Square Head Bolt I M8-1.25 Hex Nut
GSK-32 X1 PN 524 X8 PN 526 X12
.J M8 Threaded Plate K M8 Hex Bolt |_ M8 Small Threaded Plate
X6 PN 525 X12 PN 714 X2

PN 835

DZ 16228






